HauvuMmeHoBaHue 0O61bekT HegBuMXxnMmocTum CtopoHa LleHa o6bekTa B NToro
o6bekTa Poc. Py6. / M3 Poc. Py6.
HepBumxuMmoctu
(v3 npaBoycT.
AOKYMEHTA)
Stax 1 K. N2 19 nnowaabio 84,4 KB.M. CeBep 120 000 10 128 000
K. N? 20 nnowagbto 114,4 kB.M. or 140 000 16 016 000
K. N? 21 nnowapbto 118,6 kB.M. or 140 000 16 604 000
STax 2 K. N2 22 nnowaabio 80,7 KB.M. CeBep 125 000 10 087 500
Ks. N2 25 nnowapabto 87,8 KB.M. CeBep 125 000 10 975 000
KB. N° 24 nnowapbto 173,7 KB.M. or 160 000 27 792 000
dTax 3 K. N? 12a nnowaabo 71,6 KB.M. Cesep 135 000 9 666 000
Ke. N? 13a nnowaabto 86,6 KB.M. Cesep 135 000 11 691 000
K. N? 12 nnowagbto 151,2 kB.M. or 210 000 31 752 000
JTax 4 Ke. N? 14 nnowagbto 150,6 kB.M. or 220 000 33 132 000
K. N? 14a nnowaabio 72,3 KB.M. CeBep 140 000 10 122 000
JTax 5 npoaaHo
JTax 6 K. N? 16 nnowagbto 127,7 KB.M. or 145 000 18 516 500




